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Find the average value of the function over the interval.
y=2x+3e", [1,4 ]
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Set up the definite integral(s) that gives the area of the shaded region.
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Find the area bounded by f (x) = 3x3 - x2 - 10x and g(x) = -x2 + 2x.

First, find the intersection by setting the functions equal to each other.

We get x=0, -2, 2. 0, @ . ) -3-1+10 = b ¥ £(1)=3--10
— = -3
Next, determine which function is larger on each interval. What do you

do if you don’t know how the functions graph?
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Finally, set up the integrals. S (
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First, find the intersection by setting the functions eql'?al to ea%h other.
We get y=0, 3.

Set up the integrals. A= Sa (_ ” +) \d) tg.l&r
- jo 5y +3l3 &utlf

Now to change things up a bit.....




X=Y-b
Find the area between the graphs of Y=x+06 and x=—y
- 2




. B ¥+1 0<x<1
Find the area between the graph of /™= { 3y 1<x<3 and the x-axis.
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Sketch the region bounded by the curves and find the area of that

region.
X=4/y, x—=2y=0
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How would you solve this?
Let R be the region in the first quadrant bounded by the graph of

y=25-x" and the coordinate axes. Determine the value of ¢ such that

— iyl : :
Y =CX separates R into two regions of equal area.
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Use integration to find the area of the triangle whose vertices are (0, 0),
(1,3) and (1, 5).



The function f(*)=x’+x isinvertible. What is the area between the

graph of Y=/ (%) and the y-axis for 0Sy<2?



